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SECTION -1 / @Ug -1
CHILD DEVELOPMENT AND PEDAGOGY
aTe ferehTa We Rremorren
There are 30 questions in all in this Section.
All questions are compulsory.
TWEE A FdA 30T E |
[ty aAferd § 1

1.  Which of the following will serve as a most satisfying defence mechanism for the
physically handicapped individual ? ‘

(A) Identification (B) Rationalization

(C) Fantasy (D) None of these.

wRiftEn it o =afe % fog 7 3 @ #19-4 gfe @ d 3 qa9 d@dwsms g 2
@A) R B feEwwm

(€ e D) T @ wE T

2. Children’s Apperception Test was designed for children between ages 3 and 10. The
CAT cards substitute

(A) non-living objects for living objects  (B) animals for people
(C) females for males - (D)  children for adults.

ek FETEY wae 394 ¥ 10 96 ®Y I & Sl 6 A SR ™R 39 wEw § wE d
yieeenfag fFd ™ §

(A) TeiEawell F WA WiETaagsiisl  (B) @FN & T W SHR) 6

(C) Toul % W | Afgansii &t (D) oI & TIM W FAR] Bl |
3. In order to nurture creativity, a teacher should take help of which of the following
methods ?
(A) Brainstorming (B) Lecture method
(C) Audio-visual aids (D) All of these.
YR % WYY % fAu U oreaye @ e § 9 few fafy =) werem A =nfew ?
@) 97 =T/ fearEw (B e fafy
©C) T Gt (D) T8 QI |
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Which of the following statements is incorrect ?

(A) Need is not a physiological stage of deprivation
(B) Drive is a psychological consequence of a need
(C) Need and drive are parallel but not identical
(D) Instincts are innate biological force.
frAdds-wFmR e = ¢ ?

(A)  STETIHA S HT WARE e 7 ¥

(B) RIS TERFHAT HT TSR IR0 §

(C) STEvashal Td SIS TAM 76l 8, Ffeeh THAR §
(D) WEwghwEr safs Sifasw oa € |

Right to Education Act, 2009 specifies the minimum number of working hours per

. week for the teacher as

(A) forty hours B) forty-five hours

(C) fifty hours (D) fifty-five hours.
foren @1 eifeepr srfufram, 2009 ¥ ww stears & forg =gAaw #rd w2 wia dare fuifa el @ €
(A) I He (B) Haciw He

(C) v=H H (D) TEUF WS |

The personal factor(s) which affect learning is / are

(A) Mass media (B) Peer group

(C) Teachers (D) Maturation and age.
sAfermy @ ganfem Fa ATl SAfET FRE ©

(A) EER & 9eH (B) EHIGE WE

(C) S (D) wRusaa & Ay |

A cricket player develops the skill of bowling, but it does not affect his skill of batting.
It is known as

(A) positive transfer of training (B) negative transfer of training
(C) zero transfer of training (D)  none of these.

w e faeret ot Heamsht & s 1 fasfaa o ad ], W ag 6k seersrs % Bt H
wofert & hear | 39 FEd §

(a) fadrams gfteor st=Rw B) Fourws gfeor s

(C) ¥ wfvaron s (D) ¥ @ =K T

Which of the following statements best shows the mental health of a person ?

(A)  Full expression, harmonization & goal direction

(B) Lack of mental disorders

(C) Free of personality disorders

(D) Al of these.

NIRRT
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= § @ wF-w Fua fhe =afe & Tmfas @ 9 ST 9 3 weiis s € 2
@) gt sfreafs, @nfaemo o amm we ) R e
B) wHHSH fawRl ®1 7 T
(© e ¥ fnl & o
D) T | |

9.  Though number of psychologists like Freud, Piaget explain personality development in
terms of stages but only Piaget talked of
(A) developmental stages which are determined by the environment
(B) restricted effects of stages to early infant experience only
(C) cognitive transformation to explain stages
(D} none of these.
ﬁ'%wﬁqﬁmwﬁ%ﬁﬁ%wﬁﬁmaﬁﬁﬁmwﬁ%mﬁﬁwaﬁ% | 9
(&) el T fow &t sreed ameR § fuifa g §
B) el TF Srvmemeren & e € i Tuifea w €, STh! oroeenedl ¥ ik g € €
() fafim sreeenstl &t woem & o d9Fcas S5 & IR H wal

(D) ¥ ¥ e T |

10. Guilford has given the term ‘convergent thinking' as equivalent to
(A) Intelligence (B) Creativity
(C) Intelligence and creativity ~ (D) none of these.
e = ‘et fem’ W' &1 v forass T ol | fran @ 2
@A dfs (B)  gSHCHSE
© oS T gorrHRar (D) T QK T |

11. Which of the following statements is not true about development ?
(A) Development is the product of interaction
(B) Development follows an orderly sequence
(C) Development is individualized process
(D) Development proceeds from specific to general.
frAfdsi-wFrR T s M AT - R ?
(A far o W § (B) foehr G oHafeed sjwen @ ST ¥
© fooe & safeT aiRa R (D)  fomm fafte & 9T AR M T |
12. Children’s thinking is grounded in concrete experiences and concepts rather than
abstractions. It is the stage from

A) 7 to 12 years (B) 12 to adulthood
(C) 2 to7years (D) birth to 2 years.
STETh! Wt W ST Y STHEN T STl U YeIEl § gl § | 9% ST ®
@A) 7¥ 1298 dw B 123 TEEaE
© 29 7a¥dH D) SHE 294 TF |
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13.

14.

15.

16.

6

Human development is the product of joint contribution of both

(A) parents and teachers (B) sociological and cultural factors
(C) heredity and environment (D) none of these.

e T fea A & A w1 aftoms ® 2

() ANTEF ©F TEETIE H (B) 9mIfS$ Td OiRGFfah FRP! 6
(C) SR W SRl (D) ¥ @ =8 T |

Which of the following is not among the four determinants of intellectual growth stated
by Piaget ?

(A) Social transmission (B) Experience

(C) Equilibration (D) None of these.
7 # ¥ FF =S F FTER sifgs fawe & e 7@ =1l 12

(&) QTSR H=Ror B) P

(C) Tgers D) T F T

Which of the following is a better strategy for teaching children with special needs ?
(A) Discussion in the classroom involving maximum number of students

(B) Demonstration by teacher involving students

(C) Cooperative learning and peer tutoring

(D) Ability grouping for teaching.

oo smavgehT e Il W YeH % foru frefafen § @ - g sty 3ugw ¥ ?

@) sfumay = & AiEfa w9 g HE B 99

(B) Tt = wiwfaa w0 gU STEAmS g FRvH

(C) TEhrt ifr qen der eftn ( wrwiedl g sigfer )

(D) eI & T drgan snurfia TEteT |

Right to Education Act, 2009 states that a teacher shall perform which of the following
duties ?

(A) Maintain regularity and punctuality in attending school

(B) Conduct & complete the curriculum

(C) Complete entire curriculum in a specified time

(D) Al of these.

foran =1 sifeeRr stfufm, 2009 # w& seas & 1 § | frw Sifae =t qU T g 2
@) fouem ¥ fafm 9 9 999 ) Sufem g9 g

(B) UISWHA T TITH H T HTT 1M

© Tl wemRd H Huifa w9 W @ ST

(D) TH I

LU
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National Curriculum Framework, 2005 suggests some activities to promote peace
education. Which one of the following is enlisted in the curriculum framework ?

(A) Organise programmes to protnote an attitude of respect and responsibility

towards women
(B) Teach moral education
(C) Teach peace education as a separate subject

(D) Integrate peace education in the curriculum.

TP weTHA '@, 2005 ¥ Wi} e 1 9g@ 7 F fau 3 feae = smm w T ®

Ty T 4 e ¥ @ R0 gees R € 2

() Hfeensli & i et wa fomiet w1 g famfaa w0 & fau srise smafsa ff s

(B) At fen =1 g S

(©) wf foie <t T ote fowa & w9 H qgrn 9

(D) it e+ wowwy § witwfea fea s

National Curriculum Framework, 2005 talks of major shifts from
() knowledge as given and fixed as it evolves and is created
(B) educational focus to disciplinary focus

(C) learner centric to teacher centric

(D) none of these.

T W=l W@, 2005 H S w W §

(A) T R ¥ 9 e W R | 9 W e g 8 iR TEet Wia ® W €
B MEFFxIfm@FTRTAR

() ol Sfsa @ oA s = v

(D) A9 | I T

The objective of action research is to

(A) gain new knowledge

(B) develop the science of behaviour in educational situations
(C} modify the educational practices in school and classroom
(D) all of these.

foraTcHe ST 1 3894 ¥

(A)  TEH E H S

B At ol § saer foagm @ fawm

€ faorem qun wen +1 Wi F gume d guR @

D) FH{ A

AR
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20.

21.

22,
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In the National Curriculum Framework, 2005 under the heading ‘Examination Reforms’
which of the following reforms has been suggested ?

(A) Open book exams

(B) Continuous and comprehensive evaluation

(C) Group work evaluation

(D) | All of these.

T o=l F9@1, 2005 3 F<rid wie gurl' ® A | fru gur ) gen e € 2
() el T e B) Haa/ R T = g

(C) ErfEsh Fd gk (D) T |

Which statement is not true about interest ?

(A) Interests are innate and acquired

(B) Interests change with time

(C) Interests are not related to capacities and aptitude

(D) Interests are not reflection of attraction and aversion in behaviour.

feaddeR-memesaF M A ga & ?

@A) el SR o st AT A €

B) Tl 99 ¥ STTER St et €

©) wfeal rgarel v fermael @ rtud e g €
(D) ofaal sgaer ¥ srwdw Td faepsor & wiafens 7t € |
Theaftitudeis

(A) an emotionalized tendency organised through experience to react positively or
negatively towards a psychological object

(B) a characteristic that is symptomatic to the individual's ability to acquire with
some specified training, some knowledge or skill in a given field

(C) a potential ability of an individual of a specialized kind

(D) none of these.

s & -

(A) TH WEHS YA S AIYE F gRT Efed s fRE WA a%g % wia wEe A
e % &9 | gfafsean wt ®

(B) U UH fasivar s safs &t Fgan &1 vf=ms € 5@ fodt wem &9 # fafew wfemw, 3@

AYET HIYA W gl S Tl &
€) e +I o s s fofie wor 1 €t @
(D) 379 A 8 &I |



23.

24,

25.

26.

27.

9 L-2
In personality as well as intelligence heredity plays
(A) a nominal role (B) a great role
(C) unpredictable role (D) fascinating role.
=it Td gfg § Sy &t
(A)  THAE HI T § B) Wyl sfitwr §
(C) srqaigHa offieT (D) oA sffer ¥ |
Which of the following is the storehouée of our unfulfilled desires ?
A 1Id (B) Ego
(C) Superego (D) Id & Ego.
o zeotel 1 i = 1 9, 37 R e e A A - ® 2
@A) T|H (B) ’H
(C) WH 3IEH D) TH T A |
Defence mechanism helps us a lot in dealing with
(A) violence (B) stress
(C) fatigue D) strangers.
&7 T 9gd HeEl T §
() fEwr @ e d B) T Q froe d
(€ g&F J fred § D) sroAfeE | e |

Ability of knowing the meaning of problem, weaknesses and gaps related to
environment is a characteristic of

A Gifted children B) Avérage children

(C) Creative children (D) None of them.

T % el A S w1 e, SrarERel % <, s e e % wfn werm fava @
(A)  wlasmemet sTern! (B) HWg STeihl i

(C) GRS SeTh! I D) 7R wE T

A college girl developed the habit of dropping the coat on the floor. Mother asked the
girl to get out of the room and hang up the coat on the peg. The girl enters house,
keeps coat on, approaches closet, hang up the coat on the peg. It is an example of

(A) Chain learning (B) Stimulus Response learning
(C) Concept learning (D)  all of these.

T HiAS M el ASHt 3 BY W HIE Hoh hl SZT ST A € | ASH! ! Al 7 IqS el
FW Y TR Rl R HE B G W AN | ASH A IR Wy F ¥, He H T W
T FX AR 1 T o HL HE B Gt W 07 e ] | 98 IS }

() e s B) SE-sThEn S w

© waa A (D) T |

LT [ P.T.O.
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28.

29.

30.

10

Extrinsic motivation may include
I Praise & Blame
II. Rivalry
III. Rewards & Punishment
IV. Knowledge of results.

Of these :
(A) I and III (B) I, Il and III
(C) Onlyll (D)  all of these.
aTed Ao § et fear smm

I YR wE QR

1. wiagfe

III. Y&R TE T08
IV. 9Rom™ &1 99 |

THE
(A 13RI (B) I, HR I
(C) &FHad II (D} 379 @@l

A process in which an individual learns new responses by observing the behaviour of
another rather than through direct experience is known as

(A) Social learning (B) Conditioning

(C) Experimental learning (D) Incidental learning.

forg gferen o =afts TRl & aeR & 7@ I digar € 7 % T8 31a &, & Fel 9 €
@A) s A B)  ITIFEA

(C) WA Afrm (D)  aeRfee At |

The symptom of learning disability is

(A) tendency to escape (B). restless, energetic and destructive
(C) disorders of attention (D) lack of motivation.

e e &1 @& ?

A) WA F g B (B) 3TN, Soia e fasees g
(C) 3Iaum g am / faer (D)  SFIROM &1 H9E |
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©us - 11
T - 1
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THESH FA 30TF ¥ |
|t w afErd €
31. 'vAg' W I G T &
@ e (B)
© g D)

32. faudta o1 &1 Sy IR A I F FEd T
&) vEEEE I
C) TumHw W
33, ‘Tui’ wsg W1 o AR T
() A
(c) wufa
34. ¥ V< 'HHA' H waiFaEt T R ?
@ s

() wAfaw

(B)

(D)

(B)

(D)

(B)

(D)

35. ‘fowe 79 9 A I WE T F AU o =

@ w7
(C) ¥

36. ‘@' ot 'F fou’ forw wnw F e ¥ 2
(A) HHSH e

(C} SAYRH SR

(B)

(D)

(B)

(D)

T —

|G |

faeim =g
THdH T |

AKT |

Y&l |

S

HAGHAER |

T SR

YA FRE |
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44.

45.

12
‘3ee’ ok et foraer o € 2

A T B) =T

c = D) Y |

'AgEHT T T SR A UiE T @ — 59 9 § SR §

a) TR B  dgE

(C) &R (D) g |

s form fog w1 @ ®
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© efagE (D) 3MEEA |
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39 TENY 1 S ghm

(&)  FHET R HEwW B) oT=I Hfa
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‘e e ¥

@ T e (B) FHW % W
(C) Hia & weft (D) SO EIE |
T9 T B HH WG ¥

(&) I e (B) o g
© ifa R wggfa (D) J&fq )
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(A)  uY-ve emfe
€ fed smfz

13

(B)

(D)

(B)

D)

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

fars

wWay ®9 ¥ 3Ra wfar
o & 9g § 3 arelt et |

WRAg
Arhyad |

g + =31l

g8 + B |

e yere gran ¥

fafas o1 g BT ®

U3 3

W 3G |

L-2

[ P.T.O.



L-2
53.

54.

55.

56.

57.

58.

59.

60.

14
"TeH et IaeH W W e o’ H fawm @

@ et B) AT

€ A (D) G |

B E T %13 el o' T B 5 ™ W WgE g
@ ® R

(C) s (D)  @1Er )

‘T8 Tthorar TN de I i AifeT sH Ao H 'aw

(&) HYEASYE THT ®  fra forivm

©) S = D) Foemfeays s |
SR BT AW I3’ & foAw U |

@) & T A BTy HE (B) HTHRI-UEA TH HLAl
(C)  Fem T FEA (D) IR W T )

‘e ST gETeR o o1y ¥

(A) I g B U IFEHA

C) R T @) < S g
‘3T BT ST’y 3t §

(&) HTHE A (B) IO B9 TS T
C JMTAYAFHAFMEAITH NS (D) 3 819 § TH I |
“H 0 TR G T ¢, O 99 O 9 €& o 39 #

(&) SR-ER AR Wi B) THE AR FE-
C)  H-FHHTA (D) 59 Y 3 [y |
ST a1 e Sl € § 2

@ A () B  WER T

C FETE (D) T JHE W

L [201]



15 L-2
SECTION - II
LANGUAGE I
ENGLISH
There are 30 questions in all in this Section.

All questions are compulsory.

31. To express ‘necessity’ we use the modal

(A)  may (B) must
(C}) can (D)  might.
32. Complete the phrasal verb in the following sentence :
I usually go to bed early and also get ..................... early.
(A) out (B) off
€ wup (D) into.
33. Which one of the following options will complete the phrasal verb in the following
sentence ?
The train slowed .........c.c.ooeeneen, and finally stopped.
@A) up (B) over
@ about (D)  down.
34. Pick out the phrasal verb which means ‘to take care of” :
(A) run after (B) look after
(C} runinto (D}  look for.
35. Complete the phrasal verb in the following sentence :
The tourist guide pointed ...............oooevvineen. the most important buildings.
A) in (B) out
(C) off (D) on.

36. Rahul said to Veena, “Please return my books early.”
~ In Reported Speech the above sentence will be

Rahul requested Veena to

(A) return her books early (B) return my books early

(C) return his books early (D)  return their books early.
37. Which one of the options has the same meaning as the following sentence ?

The Taj Mahal is the most beautiful building in India.

(A) India has many beautiful buildings

(B) The Taj Mahal is more beautiful than any other building in India

(C) India has only one beautiful building, the Tal Mahal

(D) The Taj Mahal is a beautiful building.

T | PTO.
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38. Pick out the correct ‘wh’ question :
(A) How much money do you want ? (B) How much do you want money ?
(C) How much do you money want ? (D) How much money you want ?

39. Which one of the following words is similar in meaning to ‘purchase’ ?

(A) Buy (B) Sell

(C)  Receive | (D)  Supply.
40. The word ‘inspection’ is similar in meaning to

(A) interview (B) exercise

(C) getup (D) check up.

Note : Please read the following stanza to answer Question Nos. 41 and 42 :
“The Jamuna’s waters rush by so quickly,
The shadows of evening gather so thickly,
Like black birds in the sky ...

O ! If the storm breaks, what will betide me ?
Safe from the lightning where shall I hide me ?
Unless Thou succour my footsteps and guide me.
Ram re Ram ! I shall die.”

41. “Like black birds” in the above lines in as example of

(A) metaphor (B) simile
(C) hyperbole (D) pun.
42, We can find an example of alliteration in the above lines in
(d) Ram re Ram ’ (B) I shall die
(C) TheJamuna’s waters (D) The shadows of evening.

43. Anelegyisa
(A) sad poem, usually about someone’s death
(B) love poem
(C) prayer
(D) poem about someone’s marriage.
44. The phonetic symbol for the first sound ( underlined ) in the word ‘ship’ is
@w /f/ B /sh/
€ /ch/ o /.
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17 - L2
Direction for Question Nos. 45-46 : Pick out the correct phonetic transcription of the
following words :

Pick

@ /plik/ By /pi:k/

€ /plk / (D) / plkk /.
Try

@ /trly . (B) /tral/

(C) [/tri:/ (D) /trae/.
Which one of the following words is a verb ?

(A)  Sympathy (B)  Sympathise
(C} Sympathetic (D) Sympathiser.

Fill in an appropriate determiner :

.............................. first item in today’s programme is a song.

() The (B) A

(C) Any (D) Sorme.

Supply the correct form of the verb in the following sentence :

She ..cccovvviviveiininene. a new dress last week.

(A) has bought (B) has been buying

(C) Dbuys (D)  bought.

Which one of the following sentences has the correct verb form ?

(A) They already seen the film (B) They already saw the film

(C) They will already see the film (D) They have already seen the film.

May I enter your office ?
In the above sentence ‘may’ has the meaning of

(A) permission (B) possibility

(C) probability (D) order.

Which one of the following phrasal verbs means ‘to stop doing an activity or a job’ ?
(A) take up (B) run down

(C} give up (D) look for.

Which one of the options will complete the phrasal verb in the following sentence ?

IThad to fill ......ccoevvenviiinnnnnie. three forms to get my driving licence.
A  up (B) into
(C) down (D) over.
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The passive voice of ‘We make butter from milk’ is

(A) Butter is being made from milk

(B) Butter has been made from milk

() Butter was made from milk

(D) Butter is made from milk.

Which is the correct passive voice of the following sentence ?

They have painted the door.

(A) The door was painted (B) The door has been painted
(C) The door is painted (D)  The door be painted.

My sister said, “I am enjoying my work.”

In Reported Speech the above sentence will be

My sister said that

(A) she was enjoying her work

(B] I was enjoying my work

(C) she was enjoying my work

(D) I have been enjoying my work.

The opposite of the word ‘support’ is

(A)  help (B) argue

(C) oppose (D) return.
Which word is opposite in meaning to ‘interesting’ ?

A) confusing (B) boring
(C) contrasting (D)  pleasing.
Choose the word with the correct spelling :

(A) fenancial (B) financiel
(C) finencial (D) financial.
Pick out the word which has been correctly spelt :

A) situetion (B) setuation

(C) situation (D) situasion.
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SECTION - III
LANGUAGE II
ENGLISH

There are 30 questions in all in this Section.

All questions are compulsory.

61. We must come back by six.
‘Must’ in the above sentence expresses
(A)  possibility (B) advice
{C) desire (D) necessity.
62. Complete the phrasal verb in the following sentence :
You may try hard to hide the truth, but one day the truth will come ............ .
A in (B) over
(C) out (D) at.

63. Complete the phrasal verb in the following sentence :

People have been complaining about the prices going .................. everyday.
@A) up (B)  through
(C) after (D) in.

64. Complete the phrasal verb in the following sentence :

Many parents were at the railway station to see .................. their children.
A away (B) at
(@ off (D)  after.

65. Which one of the following phrasal verbs means ‘to remove’ ?
(A) puton (B) take off
(C) putup (D) get off.
66. The doctor said to me, “Do not swim in cold water.”
In Reported Speech the above sentence will be
The doctor advised me
A do not swim in cold water (B) that do not swifn in cold water

(C) not to swim in cold water (D) to not swim in cold water.
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67. Pick out the sentence which has the same meaning as the following sentence :
No person in my village is as wise as my uncle.
(A) My uncle is the wisest person in my village.
(B) There is no wise person in my village.
(C) My uncle is the only wise person in my village.
(D) My uncle is wiser than some people in my village.
68. Pick out the appropriate question tag for the following statement :
You didn’t see him.

a) didn’t you ? B) did you ?
(C) isntit? (D) aren’'t you ?
69. The word ‘advocate’ is similar in meaning to
A adviser B) scholar
(C)  supporter (D) lawyer.
70. Which one of the following words is similar in meaning to the word ‘precise’ ?
(A) brief (B) exact
(C) precious (D) expensive.

Note : Read the following stanza and answer Question Nos. 71 and 72 :
“Silence hath bound thee with her fatal chain ;
Neglected, mute and desolate art thou,

Like ruined monument on desert plain :

May be by mortal wakened once again,
Harp of my country, let me strike the strain !”

71. The line ‘Like ruined monument on desert plain’ is an example of

(A)  simile B) metaphor
(C) elegy (D)  hyperbole.
72. Which one of the following phrases gives us an example of alliteration ?
(A)  harp of my country (B) strike the strain
(C) with her fatal chain (D) desolate art thou.

73. A sonnet usually contains
(A) eight lines (B) six lines

(C) twelve lines (D) fourteen lines.
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Direction for Question Nos. 74-76 : Pick out the correct phonetic transcription of the
following words :

Like

A /lalk/ (B) /1k/

C) /laik/ (D) /lu:lk/

Tree

@ /tuy B) /tre/

< /triv/ (D) /trel/

These

(A) /ols/ (B) /0i:z/

© /olz/ (D) /di:z/.

Which one of the following words is a noun ?

(A) interesting B) develop

(C) teacher (D) brave.

Fill in the appropriate determiner :

I have not got‘ ..................... money in my bank account.

(A) any (B) a

(C) afew (D) few.

Supply the correct form of the verb ‘remember’ in the following sentence :
| your narne.

(A) am remembering B) remember

(C} was remembering (D) have remember.

Pick out the correct verb form :

She was walking along the road when she ........................ him.
(A) met : (B) have met

(C) was meeting (D) meet.

Supply a modal which expresses ability :

All of them ..........cceeeneees speak three languages.

(A  may B) wil

() must (D) can.

We decided to put off our visit .to Kashmir till October.

‘Put off in the above sentence means

(A) arrange (B) plan

(C) reject (D)  postpone.
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83.

84.

85.

86.

87.

88.

89.

90.

a6

There isn’t enough money, so we must cut down expenses.

‘Cut down’ in the above sentence means

(A) reduce in size or amount (B) stop

(C) increase in size or amount (D) revise,

They are repairing the bridge.

The passive voice of the above sentence will be

(A) The bridge is repaired (B) The bridge are being repaired
(C) The bridge is being repaired (D) The bridge has being repaired.
Pick out the correct passive voice of the following sentence :

They carried the injured player off the field.

{A)  Off the field was carried by the injured player

(B) The injured player was carried off the field by them

(C) The injured player be carried off the field

(D) - The injured player has been carried off the field.

He said, “Kavita, when is the next train ?”

The above sentence in Reported Speech will be

{A) He asked Kavita that when the next train was
(B) He asked to Kavita when was the next train
(C) He asked to Kavita that when is the next train
(D) He asked Kavita when the next train was.

The opposite of the word ‘familiar’ is

(A) related to a family (B) personal
(C) strange (D)  unfriendly.
The word ‘creative’ is opposite in meaning to

(A)  destructive (B) positive

(C) artistic (D)  pessimistic.
Pick out the word which has been correctly spelt :

{A) obidient (B) obediant
(C) obedient (D) obidiant.
Which one of the following words has been correctly spelt ?
(A) gramar (B) grammar
(C) grammer (D) gramer.
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SECTION - IV / @UE ~ IV
In this Section, there are 2 sub-sections i.e. IV(a) Mathematics and Science and
IV(b) Social Studies. Both the sub-sections consist of 60 Multiple Choice Questions each.
The candidate has to choose either IV(a) Mathematics and Science or IV(b) Social Studies
as selected in the Online Application Form and answer all the 60 questions.

39 GUE T <) ITETE 31¥iq IV(a) U aer fagm w@ 1v(b) A steaas € ) <1 STaEvel ¥ Tl
T 60 Jgfomedg 791 € |
et i IV(a) U e faA 20eET [v(b) WrTister rsaaq, s 997 FemEs deq o3 | fhan
T ¥ 9 fFet uw STEvs &l g ¥ U 9 60 WAl T ST A T
SECTION - IV (a) / @US - IV (a) _
MATHEMATICS AND SCIENCE / Tfora aur faqm

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

TWEE U FA 60T ¥ |ﬁ?awﬁﬁmﬁwwwﬁm%ﬁmﬁmmaﬁaﬁ% |

91. IfE, be the peak e.m.f. of alternating current, then root mean square e.m.f. will be

W E, B E N2 © E,/2 D E,/N2.
gty 4r %1 RIER f9e alo 7o E 7, @ & med go o F1o 5o w1
B WE, B) E2 © E,/2 D) E,/N2.
92. Detergent is a complex salt of
(A)  Sodium (B) Calcium
(C) Carbon (D)  Magnesium.
STUHTSI wfed Fav ]
() wifead = B) Hfewraw =
(C) A H (D) W @
93. Device used to send text and pictures is
(A) teleprinter (B) telex
) fax (D) none of these.
Yo Td AR A Ao & g R ST ST R S ¥ 2
) ERfier B)
© D) F A wE T |
94. Which of the following mixtures of gases are used for welding of metals ?
(A) Oxygen + Hydrogen (B) Oxygen + Carbon dioxide
(C) Oxygen + Methane ' (D) Oxygen + Acetylene.
yigstl #1 Afeen & foae fr=1 & | 57 A9 & fago &1 s94m fFa s @ 2
@) SRS + TR (B) AfISH + Hro TEIAFIRS
(C) Ao + fagA (D)  FfarSH + Tffes |

IR R ~ (rro.
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95.

96.

97.

98.

99.

68 '
Symbol of Tungsten element is
@ w B T
(C) Te (D) Tm.
A T HT HHaTER ¥
@ w B T
(C) Te (D) Tm.
Property of sublimation is found in
@A sodium chloride (B) calcium chloride
(C) ammonium chloride (D) magnesium chloride.
IeefUTe T TOT 9T W ®
(&) wifean wiREe A B Hicerm wige §
(© wifem FREs ¥ (D) i FeEs 7 )
Heat required to increase 1° Celsius temperature of one kilogram water is
A) 1 calorie (B) 10 calorie
(C) 100 calorie (D) 1000 calorie.
T R ot @ U feult Afcaaw a sgn & fod stavas S gt
@) 1% B)  10%&Q
(C) 100 %erd (D) 1000 H& |
Image formed by a convex spherical lens is
(A) imaginary and erect (B) real and erect
(C) imaginary and inverted (D) real and inverted.
TF I A 90§ il s @
(&) NN TE (B) arEafas T Wl
(C) et W8 S0 (D) arfa® 6 I |
For an incident ray of light, if mirror is rotated by an angle 6, then reflected ray will

rotate by an angle

A o B 26

C 90° D) 0.
gmmm%maﬁmﬁeaﬁwﬁwﬁmmammmwwaﬁw

A o (B) 20
) 90° D) o0°.
100. A patient of hypermetropia is given spectacles of
(A) lens of zero capacity (B) compound lens
(C) convex lens (D) concave lens.
TEfe S % 70w i = fean s R
A) I & H A B) fufsa &= &
(C) 3ITA AW FI (D) &FFaA A A |
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101. In a typical plant cell the position of nucleus is

(A) Central ‘ (B)  Peripheral
(C) Basal (D) anywhere.
T WU qIeY Hifvet § Fseh ot feufy et €
@A  FEE B) R
(C) U D) T of
102. Which of the following cell organelles is known as powerhouse of the cell ?
(A)  Nucleus (B) Nucleolus
(C) Golgi body (D) Mitochondria.
=1 9 | form wiftiwi &1 wife =1 e w81 W € 2
@) FEH B) FHfsEw
(C) TSt & (D) TR |
103. The longest stage of mitosis is
(A) Prophase (B) Metaphase
(C) Anaphase (D)  Telophase.
A fawreH o ged ol g @
(&) WHS (B) HeTHd
C) TS (D) &k |
104. Viral disease is
A) Polio (B) Plague © Cholera (D) Typhoid.
TR wfa T
@A) difer B) @
(©  wW (D) <EEES |
105. Which of the following deficiencies in food causes night-blindness disease ?
(A) Protein ' (B) Fats
(C) Vitamin A (D) Vitamin C.
dioH # f1e1 ° | foraes i § Wt a2
@A) wEm (B) T
© faafm A (D) faerfm C.

106. A triangle and a parallelogram have the same base and the same area. If the sides of
the triangle are 26 cm, 28 cm and 30 cm and parallelogram stands on the base
28 cm, the height of the parallelogram is
(A) 12 cm (B) 16 cm (@] 14 cm (D) 6 cm.
T e iR AR S 1 oNuR e du%et §HE ¥ | afE e & el e 26 |,
28 A qen 30 ¥t ¥ iR WHR wge w1 SR 28 AT Aelt o ¥, A FHRR wqyw i S
KLl
@A 129 B) 163
€ 1434 (D) 67 |

LT ~ (rro.




L-2

107.

108.

109.

110.

111.

70

In general a book is a solid figure, known as

(A) parallelogram (B) cube
(C) rectangle ' (D) cuboid.
HERUA T e U 39 3mepfa & formem om0 &

(&) =R =g B

€ A= (D) =79 |

Ram wants to build up a solid cube of side 15 cm. How many cubical blocks of side
5 cm will be required for it ?

@ 9 B) 18 © 27 (D) 30.
TH TF 3 o1 991 =Iedl § 9t o 15 9 g1 | 39% fau 580 =1 9t ffan MR
THE FI AIIRA B ?

A 9 (B) 18

o 27 (D) 30.

The volume and curved surface area of a right circular cylinder are
A) 2nrh, nr2h B) nr2h, 2nrh

© %nr2 h, 2nrh D) =wr2h, nrh.

T HHSHIU AT S 1 A T o6 I 61 &A% §

(A) 2arh, ar?h B =nr?h, 2arh

© Lrnpr2n, 2nrh (D) nwr2h, nrh

3
The value of rn is given as follows :
3-14159265358979323846264307
The most and the least frequently occurring digits after the decimal point are

respectively

@w 3,7 (B) 7, 3
© 3,0 D) 4, 1.
n s AE ARl gan @

3-14159265358979323846264307
TS F AR TS IS 3R T HH 9N HH 9T 3 FA: §
@a 3,7 (B) 7, 3
G 3,0 (D) 4, 1.
Two cars X and Y are moving from a point A to the point B which are 50 metres apart.
If the speed of X is 10 m/sec and that of Y is 25 m/sec then the time taken by them
to reach to the point B are respectively

(A) 2 sec, 5 sec (B) 500 sec, 750 sec

(C) b5 sec, 2 sec (D) % sec, % sec.

q fagell Aqur Bfoas o9 1 g 50X 2, @ R Xau yoo! § 1 3fg Xt afa 10 H/A
AU YR G 25 H/@ }, @ 39S % g AR o) B 0% U W A Il 9HY FHHW: TN

A 293 59 (B 5008, 750% ~
© 59 29 (D) ga, % J
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112. Divide Rs. 13,260 between Ram and Shyam in such a way that if Ram gets Rs. 11
then Shyam gets Rs. 15. Then Ram and Shyam will get respectively
(4 Rs. 7,650, Rs. 5,610 | B) Rs. 5610, Rs. 7,650
() Rs. 5,100, Rs. 8,160 (D) Rs. 8,160, Rs. 5,100.
13,260 %o & T 3R W # 39 WR faufoa ¢ fF afg T@ o 11 %o fd 9t mm 1 15 %0 |
39 YR &F o § T oK wm #) wewn: faen
(A) 7,650%0, 5,610%0 (B) 5,610 %o, 7,650 %o
(C) 5,100%0, 8,160%0 (D) 8,160%0, 5,100%0 |
113. Which of the following is incorrect ?
(A) The point of intersection of medians of a triangle is called centroid
(B) The point of intersection of perpendiculars drawn from the vertices of a triangle
on the opposite sides is called orthocentre
(C) All the three bisectors of angles of a triangle intersect at one point
(D) Median of a side of a triangle is perpendicular bisector of that side.
e d @ - FuT W ® ?
@) e e =t mftae @ yfrd fag s weam §
@®) foe e & vid @ am Al o ) T T aEl w1 i 6w F weend €
€ fost frye ¥ 4 ol & wnfgaes o fag W fied §
(D) Tt faoe | o= wit wiftaeh, 39 1 W @& T ¥ 0d S® wnfgaiiaa et ¥
114. Which of the following is not the condition of congruency of two triangles ?

(A) The three sides of a triangle are equal to the three sides of the other triangle
respectively.

(B). Two sides and the angle included between those sides of one triangle are equal
to two sides and the angle included between them of the other triangle.

(C) Two angles and the side between them of one triangle are equal to two angles
and the side between them of the other triangle correspondingly.

(D) All the three angles of one triangle are equal to the three angles of other triangle.

=1 | @S- e S el @ waieEa % fae v w2

(@A) TH S Y A o wEen: T s Y <A el & awer g

B) TH M R @ ot T I A FH A, TR B Qe T 59 A" F B0 F
TR &

C EHEFIATMITHF AR G, R AOEF IR RITH A H = &F
ERCila |

(D) T& Ay & A= A1, T S & A ol & s & |

115. If each angle of a quadrilateral is less than 180°, then it is called

(A) concave (B) convex

(C) parallelogram (D) trapezium.
el =g &1 9% Ho Al 180° @ wH T, ot 3T TGS I Feq &

() STEda B SUd R
) TR (D) HHSEH |

IR o
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: 2
116. The simplified forms of 22° ,[22)22and(222)2are

(A) 216 44 162 B 44 28 82
(C) 216,28 g2 D) 162 44, 216
2
aat 222, (22)2%qm (222 )  w o ww @
A) 216 44 162 (B) 44 28 82
Q) 216 98 g2 (D) 162, 44, 216,
117. The factors of expression (x2—2xy+y2)—22are ‘
(A) (x+y-z)(x+y+2z) (B) (x~-y-z)(x-y+2)
C) (x-y-z)(x+y+2z) (D) (x-y-z)(x-y-2).
W(xz—ny+y2)—22'37‘{[WU€%
(A) (x+y-2z)(x+y+2) (B) (x-y-2z)(x-y+2z)
O (x-y-2z)(x+y+2z) (D) (x-y-z)(x-y-2z).
118. If ax? + bx + ¢ = 0 is an identity in x, then
— \’ 2 _ -
(a) X = b+ 2b 4ac (B) c=O,x=O,x=—b
a a
(©) c=o,x=%, x=% D a=0,b=0,c=0.
e ax2 + bx + c =0, xH T gEaiew €, @
— \’ 2 _ : -
@ x=_P% 2b dac B c=0 x=0 x= 2
a a
-b b
Q c=O,x=—;, x=_ (D) a=0,b=0,c=0.

119. The numerator of a fraction is less by 2 than its denominator. If we subtract 2 from
the numerator and add 2 to the denominator, then the new fraction obtained is % .
What is the original fraction ?

7 3 5 1
W g B F @ = D) 3.
T fiet & e oiy, A 2FA R 1o oo i d @ 2 v i 9@ s A 2 Wi e ol
@ T FHR g 74 o %% @ wRfeyE i R

W = ® 2 o 2 o .
120. If we divide x*-y* by x-y, then the quotient and remainder are respectively

A x3+x2y+xy?2+ys3,0 B) x3-x2y+xy?2+y3,0

© x3+y3 x2y+xy? D x3%-y3, x2y-xy2

IR x2-y? & x- yd 9 < @ ITEA R ATFA FE: €

A x3+x2y+xy?2+y3, 0 B x3-x2y+xy?+ys3, 0

© x3+y3 xZ2y+xy? D x3%-y3 x2y-xy2
121. The gas responsible for global warming is

@ H, B CO, © NO, (D) SO,

fova swm & fau famer g # '

@ H, B CO, © NO, (D) SO,

NRERERILT
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122. The atomic number of a nucleus is equal to
(A) number of electrons + number of neutrons
(B) number of neutrons + number of protons
(C) number of protons
(D} number of neutrons.
e T GRATY] HHTH SeR gram &
(A) IO wE + g o we
(B) g = HE&AT + WA wt H&A
(C) e = Eem
(D) =g T e |

123. If acid burn occurs in the laboratory then wash with plenty of water and before
putting vaseline which of the following first-aids should be performed ?

(A) Wash with sodium bicarbonate solution and again with water
(B) Wash with 1% acetic acid or lemon juice

(C) Clean with silver nitrate

(D)  Put simple salt.

ST & St @ e R S T A S e e el o @ g Pt § @ whea
wgfysd ITER FE A ?

(A) wifesw aEEHEH B 9 Td I U | O
(B) 1% UHEifesn ond A1 1 & @ 9 4

(C) faeer Eee Q@ |h HE

(D) WIYRY T ST |

124. A place where small animals like termites, fly, earthworm etc. are cultured according
to their habits is called

Aa) Aquarium (B) Museum

(C) Terrarium (D) Forest.

Iz T T Bl I AW — e, TG, FYY AT 37 WHE F IR I I T, IH HEd §
@A) S-S B) IR

© Em (D) = |

125. Which of the following statements is not correct ?
(A)  Aims are directives in the educational programmes
(B) Aims could not be achieved only by school programmes
(C) Objectives can achieve by school programmes

(D) Aims and objectives are same.

MR | [ PT.O.
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e 4 F-m s w2
(@) e weiwn § Siwa e frde @ wE F@ ¥
B) o faenerdt FrEET g ST W T A W
) Y Sy oo wrdswa g/ ow RS W " §
(D) X9 TE W9 SeXF WAE € |

126. Frequency of ultrasound is

(A) < 20Hz (B) > 20 Hz and < 20,000 Hz
(C) <20 Hz and > 20,000 Hz (D) > 20,000 Hz.
ITTARTE & A Bl &
(A) < 20 Hz (B) > 20 Hz 991 < 20,000 Hz
(C) <20 HzdA > 20,000 Hz (D) > 20,000 Hz.
127. Pitch of sound depends on
(d) frequency (B) wavelength
(C) velocity (D) intensity.
w1 & aRed AR e §
W s w B e ®
) dTW D) o W |
128. The number of magnetic lines of force passing through a given area is known as
(A) Magnetic induction B) Magnetic intensity
(C) Magnetic flux (D) Magnetic moment.
fiod T @ R O T T e el g e ¥
A) FEHF WO (B) gwehig dier
C) T R (D) =t AT |
129. A bulb ( 100 W, 200 V) is connected to a voltage of 160 V. The power dissipation is
A 64W (B) 100 W
) 32w (D) 160 W.
W e (100 W, 200 V ) T&F 160 Vaieedr & Y Sigt T ¥ | 9ifs & g
A 64W (B) 100 W
< 32w (D) 160 W.
130. One kilowatt-hour is unit of
(A) energy B) power
(C) electric charge (D) electric current.
T foheiiare-ser foras ames & 2
a). S @ B) wfEw =
(C) dTgA @ (D) A U H |
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131. The system affected by AIDS disease is

(A) Digestive system (B) Respiratory system
(C) Central nervous system (D) Immune system.
TEH SR ¥ wifad € aren 9

A) 9EA THA (B) A d4

) F=g af=w a4 (D) wforen o |

132. “To every action there is always an opposite and equal reaction.”
The statement is known as

(A) Newton's first law (B) Newton's second law
(C) Newton’s third law (D) none of these.
"y fohal & W fawla & T wEE wiahRar gt € 1 39 U9 o dhed ©
@A) =g = yuH fam B) g7 = fgeita fram
€ =g g frm D) 7 /g R )
133. The rate of doing work is known as
(A) Force (B) Motion ()] Power (D) Energy.
F1d A H S FeANT T
@ w4 B) Tfd © wf® (D) =i |
134. Which method of heat transmission does not require any medium ?
(A) Radiation (B) Convection
(C) Conduction (D) Diffusion.
SO SR T -9 fafy & wemm w6 savesar 96 et ® 2
@) fafwo (B) Hu®A
() = (D) faEm |
135. With the increase of pressure, the boiling point of water
(A) increases (B) decreases
(C) remains unchanged (D) none of these.
T i % Y T F A Yiw
(&) e ® B) wem R
€ eftafia wm § (D) ¥ | % T

136. The graphical representation of data in which data is shown by rectangles drawn on
X-axis as base, which are of equal width and the space left between any two
rectangles is same, is called
(A) Histogram B) Frequency polygon
(C) Bar graph (D)  Nonmne of these.

HAiwgl wl q@ias g Ykl w1 &1 98 fafy foed ews 39 sl g yefva f2 9
TomaT oMuR x-2787 €1, fooh STYR SR SigE & & 991 & ogal & g B SIS T WM SR

g, HE §
@) emated ( fe=mm ) (B) OReRAl SgHS
(C wWYTw D) 3T | FE &

NIRRT (P10
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137. The values of marks H\H and W are

A) 5,5 B) 5, not defined
(C) not defined, 5 (D) 3, 3.

fagt H\u as u/ﬂ & WE ?

@A 5,5 (B) 5, gfenfed &1 &
(C) 3uftvifya, 5 (D) 3, 3.

138. If the data to be represented graphically on Y-axis are in lacs as 1.5, 2-1, 2-7 and 3-3
then which of the following is a suitable scale of choice for one unit ?
(A)  Rs. 50 thousands (B) Rs. 30 thousands
(C) Rs. 40 thousands (D) Rs. 60 thousands.
Ife y-318 W TR €9 ¥ Teiifa fFA oM 9 e @ o 1.5, 2-1, 2.7 991 3.3%, @' @&
THIE i TG @ & fau ST A ( @hel ) DA F/ET ?
(A) 50 TSI ®o (B) 30 TR %o (C) 407 X %o (D) 60 BN ®o |
139. In the given circular graph, the decreasing order of the expenditure incurred on
various heads is

Food

Clothes

Savings

Education

House Rent
(A) Education, Savings, Clothes, House rent, Food
(B) Food, House rent, Clothes, Savings, Education
(C) Food, House rent, Education, Clothes, Savings
(D) House rent, Food, Education, Clothes, Savings.

=1 g fo & fafum oel W fFan 9 aren =19, seriEt w9 A ®

T TRt
(A) e, 9=, ®Ig, "M ], T (B) @I, Feh TR, wug, o=@, fen
(© @, "o e, foen, wue, S=[ (D) H&[A fwu, @, e, w98, 99d |
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140. The lengths of 35 leaves of a plant are measured correct to one millimetre, and the
obtained data is represented in the following table :

Length (in mm ) Number of leaves

127 - 135 5

136 - 144 9

145 - 153 12

154 - 162 : 5

163 - 171 4
Is it correct to conclude that maximum number of leaves are
A 153 mm long B) 145 mm long
() 149 mm long (D) none of these.
forelt 99 =1 35 yfvdl ) o ¥ siene U et oo Wt w9 A A w9 €

g (it & ) ufwal st @Emr

127 - 135 5

136 — 144 9

145 - 153 12

154 - 162 5

‘ 163 - 171 4
1 4% el ¥ ¥ FoF erfershiema: wftr €
@) 153 fi vt B 145 Tt ow=ft
(©) 149 foHt Twil (D) 7 | &8 T |
141. Alternate angles in the given figure, where two parallel lines are cut by a transversal,
are
s
3/4
5 /6
7/ 8

A (1,8)and(2,7) (B) (1,2)and (7, 8)
) (2,6)and(1,5) (D) (1,5)and (7, 3).

23 gu fom & @ wmiR Y@stl # Fed & frds @ F oy 9 g Tl ® v
1/2
3[4
5/ 6
7/8
A (1,8) (2, 7) B  (1,2) 39 (7, 8)
© (2,6) 7 (1,5) (D) (1,5)d: (7, 3).

NI [ PT.O.
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142. In the following figure, the value of angle a is ( here O is the centre of the circle )

(A)
€

D

[

60°
A \/ B
60° (B) 20°
30° (D) .40°.

fRAgufadamomam e (9 OTMH F= T )

(A)
(€

D

A B
60° (B) 20°
30° (D) 40°.

143. Which of the following statements is incorrect ?

A

(B)

(8}

(D)

The angle subtended by a chord of a circle at the centre is equal to the angle
subtended by the chord at any point of the circumference of a circle.

The lengths of the chords situated at equal distance from the centre of a circle
are equal.

The angles subtended by a chord at different points on the circumference of a
circle are equal.

The perpendicular drawn from the centre of a circle on a chord, bisects the
chord.

fa 5 @ F-w e s € ?

2\

(B)
€
(D)

et g0 # T a1 BRI R WS T S0 I S g ufiify F fedt o fag W
T T R F e gl @

fret gu & = @ aUa g R Teerg shanstl F T SR g §
fordt gu o U Sitar grT ufiify & aterT-oten fargell W SR T iU Ser B §
fordt gu # = W TH ST W T[T T T S H Guiganioe wn ¥ |

AU RN AR | |
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144. Given UZ =5 cm, XU = 4 cm, are sides of the rectangle XYZU.
The area of parallelogram KLZU is

X K Y L
U VA
A) 20 cm (B) 10 sq.cm
(C) 20V2cm (D) 20 sq.cm.
AEE XYZUH o UZ = 53 a1 XU = 43 &,
@ TR TS KLZU & 89%d
vX K Y L
U VA
() 209 B 1091 &
© 20V29H D) 20 JFH |
145. Hero's formula for the area of a tria;ngle with sides of lengths a, b, cand s =%b+c
is
(A) abc B) <Vs(s-a)(s-b)(s-c)
@ AVN(s-a)(s-b)(s-c) (D) %xBasexHeight.
mﬁwﬁmﬁmmﬁwab,cﬁﬁﬂwxﬁ%(ﬂﬁw&g—ﬁ)
(A) abc B Vs(s-a)(s-b)(s-c)
© Vs-al(s-b)(s-¢c) D) 5 x MR x $=E |
146. If the arithmetic mean and geometric mean of two numbers a and b are equal then
A) a+b=ab (B) a+b=+ab
© +~Ja+b = ab | (D) a=b.
afg gl Q F&sl adel b THRR TTeA T UK A5 S/ER €,
A) a+b=ab (B) a+b=+ab
© +~a+b = ab (D) a=b.

N [ PT.O.
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What will be the compound interest of Rs. 48,000, at the rate of 10% for a period of
1 %years, if the rate of interest is calculated on the basis of six months ?
(A) Rs. 6,566 (B) Rs. 7,566
(C) Rs. 8,566 (D) Rs. 7,577.
48,000 %o HT 10% H W, 1294 & =ehefg = F1 €1, IR <A 1 R B: W F fewm
} T S ? '
(A) 6,566 Fo (B) 7,566 %o
(C) 8,566 %0 D) 7,577%0 |

A shopkeeper marks the price of an article of original cost Rs. 100, after increasing it
by 10%. He then sells it by giving a discount of 10% to the customer. The price at
which he sold the article is

Aa) Rs. 100 (B) Rs. 101

{C) Rs.99 (D) None of these.

T THMSR fohelt a%g &1 o, o areafas qed 100 To ¥, 10% QT 3ifeha el § | 9%
IG I W 10% FHYH IH TGS ] o=l 8, 1 397 9% 9% forad To & A=t ?
(A) 100%o (B) 101 %o

() 99%o (D) FW ¥ HE T |

Which of the following statements is incorrect ?

(A)  If the four quantities a, b, ¢, d are proportional then axd =b x c.

(B) If a, b, c, d are proportional then ac = bd

(C) The inverse proportion of proportion a: bis b: a

(D) If three quantities a, b, ¢ are in geometric progression, then b2 = ac.
7§ | - &Y Tea ® 2

a) IR a, b, ¢, dFIGURA E, W axd=bxc

(B) 3 a, b, c, dFAHYE! §, @ ac = bd

© Wﬂ%a:b%‘lw%b:a

(D) I TRl q, b, ¢ IR M HE, @ b2 = ac.

The number of members of an institution is 2500. If the number of members in first
year increases by 10% and in the second year decreases by 10%, then after two years
what is the increase or decrease in the number of members ?

(A) Neither decrease nor increase B) Increase of 25 members

(C) Decrease of 25 members (D) None of these.

et den ¥ el &t ¥ 25008 | AfE 9% Wen A a9 H 10% S R aMmgm a6 ¥ 10%
o2 It §, @ S anl & o uee & wem ¥ et gfs o it gen ?

&) A afg T wE B 254HE # g

() 25Tl Y FHH (D) T | HE & |

NRRARIIY
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SECTION - IV (b) / @&US - IV (b)

SOCIAL STUDIES / QMHIfSh THaT

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

THEUS | FA 60T § | 5 rsafildl 7 % fawg 1 9o foran ® 3= 9ty e siHad ®

91. Which Harappan building was considered unique in its built in the world by Sir John

Marshall ?
(A) The Great Bath (B) Granary
(C) Assembly Hall (D) Fort Palace.
e TSR T9RG I W S ARt A fava &1 & sgy@ oo a1 ?
(A) IEq EAMR (B) N
(C) | W& (D) T AEw |
92. “In India there is unity in diversity and diversity in unity.” Whose statement is this ?
(A) A. L. Basham (B) V.A Smith
(C) Max Miiller ‘ (D)  Jawaharlal Nehru.
‘WRa A THat # Rl 3R sl § wEFA1 § ' 98w fewe § ?
(A) To Tdlo FNTH & (B) o o fHY =
(C) HIW e H (D) SEREA I5E & |
93. From which Indus site the evidence of ‘Fire pit’ is found ? |
(A) Harappa (B) Mohenjodaro
(C) Lothal (D) Kalibanga.
frdidfradm e 'afrge’ Faa i § ?
@ Tgo B) HETSIES!
(C) Y (D)  SIeftem |
94. What is the main source of information about Indo-Greek rulers ?
(A) Travellers’ account B) Coins
(C) Buddhist literature (D) Jain literature.
fe=-gAF e % R H TR o JeI wWia | 7
@) =R ® fa
© st e D) ¥ wifew |

NHHVAREL Y | P.T.O.
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Geeta is
(A) Veda (B) Independent Epic
(C) a part of Ramayana (D) a part of Mahabharata.
T ®
@ a3 (B) T HETHTA
(C) T hT Tk {1 (D) HEYRA 1 Tk I |
The tomb of Sheikh Salim Chisti is located at
@ Agra B) Delhi
(C) Fatehpur Sikri (D)  Ajmer.
I weliw fawedt &1 weher el feem & 2
@) PR A B) oot o
(C) W Wl § (D) SR H |
The author of ‘Nuh-i-Sipihar’ is
(A) - Amir Khusrau (B) Malik Mohd. Jaisee
(C) Dara Shikoh (D)  Sheikh Nizamuddin Auliya.
‘R faftet’ & AR ¥
@ R gE B) wfe Hiewe wEE!
© = fowre (D) @ FemEE eifemr |
The chief centre of Chisti School in South India was
(A) Gulbarga (B) Golkonda
(C) Bijapur (D) Bidar.
giaolt wra ¥ fawd faafaet o1 wg@ &= o
@ T B e
€ ¥R D) =T
The place where Saint Dadu died is
(A) Sambhar (B)  Amber
(C) Narayana (D)  Pushkar.
T S ! 7oy ford v wgd ?
@) W B) =R
(C) -Een (D) =T |
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Where Saint Jambhoji was born ? '
(A) Pipasar (B) Gagron
(C}] Jaitaran (D) Nagaur.
T SIS 1 S el gen o ?
(@) iR (B) TR
€ SArw (D) AR |
Who was the leader of First War of Independence ( 1857 ) at Kanpur ?
(A) Tantya Tope (B) Laxmi Bai
(C) Nana Sahib | ’ (D)  Kunwar Singh.
RA & WUH Wa=al 90 (1857 ) 1 FHQR § A fhem forar an 2
(A) il B) &R
(C) T W D) R g
Who is the author of ‘Majha Pravas’ written during 1857 ?
(A) Vishnubhatt Godse (B) Sitaram Pandey
(C) Narget (D) Mangal Pandey.
1857 % R fafea & ‘o= ¥are’ & d@F §
a) fasywg med (B) HIORM wvey
C TR (D) e UIved |
Who has given the title of ‘Rani’ to Gindalau, the great Naga female leader ?
(A) Rabindranath Tagore (B) Mahatma Gandhi 7
(C) Jawaharlal Nehru (D) Subhash Chandra Bose.
g rT afeen figeg 1 T ® Sufy foraa § o 2
(a) sy TR (B)  weTe e
(C) AR ATE (D) G TX G |
In which language has Mahatma Gandhi written his autobiography ?
(A) Hindi (B) Marathi
(C) Gujarati (D)  English.
HETe T 3 7 SR R s F faeh ?
@ = B wel
(C) TR (D) 3 |

In which year did British Parliament pass a law through which has taken overall the
rights from East India Company ?

&) 1858 (B) 1859
© 1860 (D) 1861.
fofen dog A ffm ad FrF 99 = § fea et & wR Afuer 8 fad 2
(&) 1858 (B) 1859
(C) 1860 (D) 1861.

LT [ PT.O.
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106. The number of Lok Sabha members elected from Rajasthan is

@ 21 B 26

© 30 D) 25
TR & wrwas % e fraifaa wewl #t v ¥

@ 21 B) 26

& 30 (D)  25.

107. The President of India is elected by
(A) the people of India
(B} elected members of both the houses of Parliament and State Legislative
Assemblies
(C) the Prime Minister and Council of Ministers
(D) all the Chief Ministers.
WA o1 TEUfd g1 ST §
(A) ¥RA F AR gRT
(B) UEE & T WEHl Ua U faumas & fHaifaa 9= g
©€) wurEsh T iy & wew |

(D) TWE G g1 |

108. Who is the Supreme Commander-in-Chief of India ?
(A) The Chief of Army Staff (B) The Chief Justice
(C} The President (D) The Prime Minister.
I 1 Fals YAl HiT § ?
A) G 9y (B) H&A AT
) gl (D) WuEEH |

109. The Chief Justice of the Supreme Court of India is appointed by
(A) the Vice-President (B) the President
(C) the Prime Minister (D) the President and Prime Minister.
Ia ¥ wals <aed & T ey @ e s
(&) 39-ugufa |) wgHfa
© guEEA (D) TFYld T QUEHE |

110. Who is the Speaker of Rajya Sabha ?
(A)  The Vice-President
(B) The Leader of opposition
(C) The Home Minister
(D) The person elected by the members of Rajya Sabha.
TIHH T AT HH e & 2
() 39-Tguld B fugwwm G .
© & A (D) TET & WRH g faifed =i |

NN
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111. Which region of India is associated with ancient Gondwana landmass ?
(A) Himalaya (B) Ganga Basin
(C) Thar Desert (D)  Deccan Plateau.
WRA 1 -1 Fa« G a1 -9r § geafvaa § 2
@) feuea (B) W w1 HEH
€) R HeEE (D) <o =1 9BR |
112. In which type of forest is Sundari tree found ?
(A) Tidal forest (B) Temperate forest
(C) Desert forest (D)  Mediterranean forest.
< 39 fF9 YR &F o ¥ 91 W § 7
(&) R o B) s a9
(C) wEEet 9 (D)  YHIENRE &7 |
The cause of winter rainfall in Northern India is
(A) South Western Monsoon (B) Western Cyclonic disturbances
(C) - Cold wave (D) - all of these.
I WRA H kel oul w1 HR0 ¥
() <ol ofved AEEd ®) e R ey
€ ¥\ & D) FEIEA
Sindri is famous for the production of
(A)  Petro-chemical (B) Cotton textile
(C) Chemical fertilizer (D) Cement.
st former S & fag wfes @ 2
) Th-EE B) T T
€ TErEfS IH (D) HAwE |
On which river is Bhakra-Nangal Project located ?
(A)  Satluj B) Ganga
(C) Ravi (D) Vyas.
HrEST-ATe i fof T W e § 2
@A) e (B) Tm
© e (D) =9 |
[ P.T.O.
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116. Who was the ruler of Kota during 1857 mutiny ?

A) Maharao Ram Singh I B) Maharao Ram Singh II

(C) Maharao Madho Singh I (D) Maharao Ummed Singh I.

1857 ! SHif<1 o THA I S ATEF o401

() TERE 1M fEE 1 B) WEWE ™ fdg 11

() werE A o 1 (D) WeRE SHE e 1.
117. The famous Salim Singh Haveli is situated at

(A) Nawalgarh (B) Mukandgarh

(C) Pilani (D)  Jaisalmer.

wfag wifem fog gaeh feom ®

@) T A B THEIE A

© foord 4 (D) SHTRH |
118. In which district is Gogamedi fair held ?

(A) - Bikaner (B) Ganganagar

(C) Hanumangarh (D) Churu.

fra foet | Tivmeet den o ® 2

() ST B) TMER

€ FIEIE D) ¥ |
119. The fort where British General Lord Lake attacked five times, but failed, is

(A) Lohagarh, Bharatpur (B) Bala Fort, Alwar

(C) Mandalgarh, Mandalgarh (D) Achalgarh, Abu.

o€ foret, 9 W 3N wRa @€ o A 919 9] 9518 %, fhg oTawe goT, ®

(A) R, TR B) N foRe, ST

(C) wisTE, ASHTE (D)  SToEE, 3T |
120. The first President of Mewar Praja Mandal was

(A) Manikya Lal Verma (B) Balwant Singh Mehta

(C) Bhurelal Baya (D) Ramesh Chandra Vyas.

AT TSI HUSH & UUH 1Ay 9

@) e e o ®) oo foE dew

© o §= D) WA= A9 |
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The main characteristic of the Indian society is
(A)  unity in diversity (B) illiteracy
(C)  self-sufficiency (D) regionalism.
IR T ) gqE fasiar €
(A) ST § Tl B) e
© e D) iR |
Urbanization is the result of
(A) educational development
(B) rural development
(C) migration of population from villages to cities
(D) agricultural development.
TR o ¥
@) s fowE (B) IO foerE
© Ui ¥ TR F SR TS @ ® (D) Hi faww w7
Regionalism is the main cause of
(A) poverty (B) social tensions
(C)  unemployment (D)  globalisation.
gEEAEE & HRU ¥
(@A) TSt B) HmIfSE qATEl
€ ST W (D) ST w |
Apart from subject contents, a social study teacher should have knowledge of
(A) objectives of teaching (B) methods of teaching
(C) techniques of teaching (D) all of these.
HHISTh 31e9aH % LT H) faug-o%q & qo-WY I g ey
() foen ¥ I A= ® T fafes @
© foeor aFAF =i (D) THITH
Which is not a cause of poverty in India ?
(A) Unemployment (B) Rapid grthh of population
(C) Education (D) Large size of family.
IRd # Tiet & A wE-w wRe T ¥ 2
@) e ® & sEen gis
(€ fuan (D) J&q WREm |
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126.

127.

128.

129.

130.
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The famous trade centre of Far West during the Gupta period was
(A) Vidisa (B) Purushpur
(C) Ahichhatra (D)  Paithan.
W S § gL uiem # gfag e w5 o
(&) fafesm (B) IEUR
© sfewed o) T
The National emblem of India has been taken from
(A)  the pillar of Sanchi (B) the pillar of Sarnath
(C) the pillar of Allahabad (D) the pillar of Lumbini.
aRa %1 W fag foam T #
@A) Wi W a B) WY W™ H
C) TORER & 4 D) dfiet ™Y |

‘People did not lock their houses.’
About which ruler has Fa-hien written this ?

(A) Ramgupta (B) Chandragupta I
(C) Chandragupta Vikramaditya (D)  Samudragupta.
‘S u H e T @ 91

e A TR wess & W A T e § 2

@A) THH B) XM I

) == fosrmiicer (D) EYXTMH |

The famous temples of Mahabalipuram were built during the reign of
(A) Pallavas (B) Cholas

(C) Chalukyas (D) Kakatiyas.
HRTAEq & Tfas dict fofd ses & WA & el o 2

(A e B) <

€ =g (D) HHAE |

For the first time, in which period of Indian History was the registration of birth and

death of people introduced ?

(A) The Age of Mahajanapadas (B) The ’Gupta period

(C) The Kushan period (D)  The Mauryan period.
I sfaere ¥ vgell aR Nl & 5 Ta Jeg 1 IS ol e § e @ 2
(A) TREHEIR FTA (B) TH &

©  Fu FEA (D) & |
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131. The meaning of the word ‘Dastak’ is

(A) Slavery (B) Factory
(C) Port (D)  Duty-free trade.
‘T T R A ® 7
W T B el
€ T=TmE (D) Y% g% SMNR |

132. Who was the ruler of Chittorgarh during the invasion ( 1567-68 ) of Akbar ?
A) Maharana Pratap (B) Maharana Udai Singh
(C) Jaimal (D) Maharana Amar Singh.
3R & Toxiigie W SHAY ( 1567-68 ) & 99T I8! ol IEH HiF o1 ?
(A) TR Fdrg B) Wewmn 357 fw
© “EHd (D) TENEN W fdw |

133. Which of the following Mughal emperor’'s reign was known as the golden period of
Hindi literature ?

(A)  Aurangzeb B) Akbar
(C) Jahangir (D)  Shah Jahan.
e T aRETE % w1 e Wifea w1 sl g el S € ?
(a) e B THR
(C) &R (D) el |
134. The French traveller who visited India for six times was
(A) Menucci B) Bernier
(C) Thavenot (D)  Tavernier.
FH-§ HHE I 3 BE R UG B AN H 2
@ w | affw
(C) R (D) TR |
135. How many ranks of Mansabdars have been mentioned by Abul Fazl in his
Ain-e-Akbari ?
A 22 ® 33
C 44 (D) 66.
IMEA-T-THe H e Folel A FAGERR] &t a1 SToral =1 oo fean ® 2
@a 22 (B) 33
) 44 (D) 66.

LT [ PTO.
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136. The Constitution of India was adopted on

(A)  15th August, 1947 (B)  26th January, 1950
(C) 26th January, 1949 (D)  26th July, 1950.
R wfawms @ fear T

(A) 15 37T, 1947 Hi (B) 26 ¥Had, 1950 &1
(C) 26 SHad, 1949 &I (D) 26 @K, 1950 S |

137. How many fundamental duties have been mentioned in the Constitution of India
Part 4, Article 51-A ?

@w 10 (B) 12
C 15 (D) 11.
AR Wiaum 9mT- 4, 3% 51-T § Fr1Re! & fohe ga1 Fesg afvia § 2
A 10 (B) 12
(© 15 _ (D) 11.
138. When was the first meeting of Constituent Assembly held ?
A 15th August, 1947 (B) 26th November, 1949
(C) 9th December, 1946 (D)  26th January, 1930.
Hiqur fmist w1 &t vee 95 & A Y TS off ?
A 15 3, 1947 (B) 26 =Y, 1949
© 9few=R, 1946 (D) 26 5=, 1930.
139. In the Constitution of India the number of Fundamental rights after 44th Amendment
is
A 6 (B) 7
c) 8 (D) 5.
RS Wige § 44  GONEA F v g AUERT F G §
A 6 (B) 7
) 8 D) 5.

140. Which is not a characteristic of the Constitution of India ?
(A) Democratic system
(B) Fundamental rights and duties
(&)} Employment guarantee to every citizen
(D) Independent judiciary.
YR Wigam %1 SHH-w fas 78 € 2
(A) IS g
(B) W AfUFR W& A
(C) T&F ANGER & USTIR it &
(D) T A9 |
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141. The largest continent of the world is

(A)  Africa . (B) North America

(C) Asia (D)  Antarctica.

9ol 1 o 91 WEEIT ¥

(&)  3ABIH B Sud i

€ (D) TUeThfEET |
142. ‘U’ shaped valley is formed by

A rivers (B) glaciers

(C) winds ‘ (D)  underground water.

‘U SRR Y uret fafda 2t @

() At g - B feErE s

©€) w@sl g™ (D)  Yfm S 8N |
143. In which rocks are layers formed ?

(A) Igneous (B) Metamorphic

(C) Sedimentary (D)  All of these.

T o =gl & ot € 2

(@) I : B) wUHRG

(G-I D) THIAwR
144. The lowest layer of atmosphere is

(A)  Stratosphere (B) Troposphere

(C) Ozonosphere ; (D) Ionosphere.

AGHAYEH ! T Froeht wa ?

(&) FHAIHTSH B  &AvsH

€ SHTSA (D)  AFHORA |

- 145. The sea having maximum salinity in the world is

A) Red Sea B) Arabian Sea

(C) Dead Sea (D) Baltic Sea.

fava # waifus @ aren @R #

(A) e WER (B) W& R

€) 7@ ER (D) wifees WP |
146. The main soyabean producing districts of Rajasthan are

(A) Ganganagar — Hanumangarh (B) Kota — Baran

(C) Bundi— Tonk (D) Jaipur — Dausa.

TS H HHEEH % Y@ SEH o €

(A) TR — SEFTE (B) ®Rr —erl

© Hq —3IF (D) AR —3 |

NRRTRRIL W | PT.O.
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147. In which district of Rajasthan is Tungsten produced ?
(A) Bhilwara B) Udaipur
(C) Nagaur (D)  Jaipur.
e F fore el | Sre &1 SaeA g € ?
@ et (B) ITAW
© AR (D) VAR |

148. Rainwater harvesting is beneficial for
(A) irrigation
(B) agrlculture
(C)  production of hydroelectricity

(D) improvement of underground water level.

Ul ST HUTY ANEEF &
(a) fE=E & fag B) FH faw
(€ v fagm SaEA ¥ fag D) T 9o TR guA & fae |

149. In Rajasthan, cities located on National Highway No. 15 are
(A) Bikaner — Nagaur — Jodhpur — Pali
(B) Ganganagar — Bikaner — Jaisalmer — Barmer
(C) Jaipur — Ajmer - Udaipur — Dungarpur
(D) Jaipur — Tonk — Bundi — Kota.
e H EtE Temn- 15 W feud R €
@) SHEMR — TRIR — YR — grel
(B) TR — T — FHTHR — AW
() AR — FTN— TR — FRE
(D) AR — Ad— & — FNA |
150. The second highest peak of Aravali is

(A) Jarga (B) Ser

(C) Taragarh (D)  Achalgarh.
IR T SHU Ieaan e ®

(@) B

C) TRrTe (D) S=g |
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INSTRUCTIONS
( Read carefully and comply / !!Tﬁ(m'aﬁ?' qre ‘ET})
IMPORTANT /

1. In Sectlon 11 (Lan guage 1) a candidate has to attempt the questions of the language which the candldate has selected as
elin the nline Application Form.

mn I 1) S ST b G B g A A & T e o ot Y e 1% w9 siens ades-ut § fran ¥
2, In Section Il (Lan age 1) a candidate has to attempt the ?luestmns of the language whlch the candidate has selected as
Language II in the nhne Apphcatlon Form, The Language II will be different from Language
GUS (Il 7 JH W & WA Hl gl AT AN & O A FT T A A AW 0] 6 €Y F aéz-—r-qaﬁ%m%mmwnﬁﬁnhﬁl
3. The candidate must ensure that the Question Booklet No. has been filled correctly at the prescribed places in the OMR Answer Sheet.
Tt OMR ¥iie | W R W YR FHE et W
4. The candidate has to answer of that subject in Section (IVa) Mathernau(:s and Science or {IVb) Social Studies as selected by the
candidate in the Online Application Form,
If a candidate answers t e questions of the language or subject other than selected in the Online Application Form, the
candidate shall be personally responsxble for it and it would be treated as WrQ

#maﬁqsgggﬁ%méwa) wd faum 4 (V) S TerdE | n%w%wﬁﬁmm%ﬁv?awmwmzﬁ
o d

I anget 3 HHARA AR 0 H =GHg HIor 47 faug % gt 6 gl 7 T T W @1 H fau F e w g o A 7% enget
Fl W@ ) TR i qen e S SR

1. Read complete instructions carefully and fill the details from Sl. No. 1 to 6 in the OMR Answer Sheet and Sl. No. 1 to 4 in the
Question Booklet. If you fail to fill the details and sign as instructed correctly, you will be personally responsible for the
consequences arising during scanning of your Answer Sheet

¥ T AR FAH 1 | 6 TF OMR ¥ m1ﬁ4wmm(§ﬁz)aﬁﬂ%m&mwaﬁ%#
faraor w1 TemR %atounsﬁzaﬁﬁ?&m anf e et % e S S IwEr @
2. OMR Sheet No. should be written in the space provided in the Question Booklet.
OMR il I ¥ g o 3t it Freifier ®arry o) ot st e |
3. The Question Booklet comprises 96 pages having 150 questions. After being instructed to open the Booklet, only then the candidates

will open the Question Booklet seals. Check whether the Booklet contains 150 questions s from Page No. 3 to 92
W H 96 TS TH 150 W £ ﬁmﬁﬁwﬁ&aﬁ%mﬁmmiﬂa@ﬁ%lw 6 W gfear #
150 99 & S 76 U0 TEAT 3 W YRS B 92 TF E)

4. All questions are of MCQ (Multiple Choice Questions) type. There is only one correct answer to each question carrying one
mark. There will be no negative mt for wrong answers. .
[t W Wl e & §) %%lmm%%ﬁﬁuﬁaaﬁw%lwmth&mmﬁﬁﬁwﬁm
5. All questions othey than lunglnge ue;tlom of Sections II and III shall be bilingual.
U U & WINT Wfue WUE I U9 & WA & Afaiw 9wl wuet & wve fyvmda g
6. In any event of any mistake in any question/s, candidates will not be penalized. However no corrections will be made in
%SUOn/ s during the examination,
m%%wm it e TR T T e 1 ol S oAty § e o Rt R T e A€ e S
7. Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Booklet. Do not tear it off

from the Question Booklet, No additional paper shall be provxded
ot SR & 7% T G W9 YR & o A T0 o 1 4 TR &1 5% T QRaw @ T B | el wm o arfafien e avered et e s

8. Use of Log tables, Calculator, Slide rule, Moblle phone, Pager, Digital diary or any other electronic item/instrument etc. is not

allowe: eir use will result in disqualificatjon.
am%aa %;ﬂ%’ﬂ wt‘%zﬁﬁ %’aﬁﬁqg'-r %m festies Tt a1 RFlt 39 WohR &1 Solagitie JUAROT / g 1 WA afE ¥ v
AT En FFam ¢l
9. OMR Answer Sheet will be provided alonérwlth Question Booklet separately.
OMR ¥ii2, W¥ &

10. The Questmn ooklet will be issued at 1:45 P. M and the candidate must fill all entries in Question Booklet and OMR Answer
Sheet, The Question Booklet seals shall be opened at 2:00 P.M. After opening the Question Booklet, ensure that any dpage/
question is not missing / not printed / torn l/ repeated. In case, fz'ou find any defect anywhere in the Quesuon Booklet, immediately
inforrtx,l ltlhe 1llnv1gllall‘.0r and %\/lt it replaced within 10 minutes by the Invigilator. Warning Bell will ring at 3:25 P.M. and the last
ong bell will ri

7 ﬂw14saﬁé’r=-lﬁfﬁ|Mwmﬁmmmomnmﬁwmﬁﬁum aihﬂ'c'—r

b af'ré?%mwﬁ%'“aﬂ??ma; m% i Wﬁgg&mﬁmm e o
/ / ™ el B ENLS qachld
i T AN e AURAR LR SAE s LRSS R B U (8 & ik K

11. Write your Exam Centre Code, Roll No., OMR Answer Sheet No., Question Booklet No., Name and put your Slgnature in the
space_provided in the Questlon Booklet as well as in the OMR Answer Sheet
o g OMR ¥iie W il M W W &5 I $I, TA T-, OMR mmmmm%@aaﬁwﬁl
12. With each question you will find 4 possible answers marked by the letters A, B, C & D. Read each question carefully and find
out which answer, according to ¥lou is correct. Indicate your answer by darkenmﬁ the appropriate circle completely in the OMR
Asteé Sheet correspondmg to the question. For marking answers use blue/black ballpoint pen only. Gel pens / pencils are not
allowe:

TEIF W F 9K AF09F IW A, B, CT D F K2 T ¥) v Ft v ¢ 9 T I B TG T 3% IW H OMR Wiz H Gmfim
:gﬁw;m%msﬁarﬁﬁﬁmwsﬁmﬁlwﬁﬁwﬁ% et T A I T H e ITET B A U 77 dfger T I9E

Correct method : | CORRECT / =t Wrong method : WRONG / TTerey WRONG / &« WRONG / 7o WRORNG / Tl
: O OO @ ' e BOOO| |[OQ00| |0000| |0O®0®
13. OMR Answer Sheet is designed for computer evaluation. If you do not follow the instructions given above and shown in the

OMR Answer Sheet, it may make evaluation by computer difficult. Any resultant loss to the candidate on the above account

shall gﬁzof the candidate only.

OMR W%%ﬁmw%m&mwﬁ@ouvﬁzﬁﬁﬂﬁﬁ%ﬁﬂwqﬁm?ﬂav'uqa:m

w%ﬁwﬁmmm#m 2R 9 T # SRR I g @ e

14. N}? ce;g blgate %h?iuld leave ge Exatrlx]ur}atlon1 Hall befforel the final b%ll The Quest}_llot;1 Booklet as well as the OMR Answer Sheet
shou handed over together to_the Invigilator before eavmg € xammatxon al
T S A A T O T 8 e ) B

78 wWiemt B oMR Wiz T W g A & e

o1 AT B

A




